Extra Review Questions

Section 10.1-10.3  
.

      Part 1: Write out the Arithmetic Sequence Formula, Geometric      Sequence Formula, the Partial Sum of an Arithmetic Series, the Partial Sum of a Geometric Series and the Infinite Sum of a  Geometric Series. 

  Part 2  NO DECIMAL ANSWERS. NO CALCULATOR!!!!!
1) State whether each sequence is arithmetic, geometric, or neither, and find a formula 
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a) 10, 6, 2, -2, ……..     b) 3, 6, 11, 18, 27, ……..    c) -2, 6, -18, 54, ………

2) In the arithmetic sequence, 
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3) In a geometric sequence, 
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4) In a sequence, 
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5) Given the information of an arithmetic sequence, 
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6) Find the sum of the first 6 terms of the series 27 – 9 + 3 – 1 + …….

7) For the sequence of positive 3-digit integers ending in 6, find  
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8) Find  
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    9)  Find  
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the sum of  a bunch of random numbers. 

10) Given 
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a. Express as a geometric series

b. Find the fraction ( simplify if possible)

11) 
[image: image11.emf]
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[image: image12.emf]12. Write the summation notation for 3+6+12+............. + 12288









12. Write the summation notation for 3+6+12+.............+ 12288


ANSWERS
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